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L.O  I can answer arithmetic questions accurately and at speed.

Year 3 

How many pence in £4.50?

897 + 756 =

999 - 356 =

46 x 3 =

8 x 11 =

____ + 415 = 756

897 - ____ = 456

____ x 12 = 48

£3.40 + £7.45 =

13 x 100 = 

Two thirds of 15?

One quarter of 24?

One third of 36?

One half of 50?

Year 4

1873 to the nearest 10?

6598 to the nearest 100?

4587 to the nearest 1000?

9009 - 6589 =

382 x 7 =

8 x 93 =

____ + 879= 2456

7615 - ____ = 3667

One third of 33?

Two quarters of 44?

Three quarters of 120?

Two sixths 66?

7 divided by 10

15 divide by 100
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ANSWERS

Year 3 

How many pence in £4.50? 450p

897 + 756 =1653

999 - 356 =643

46 x 3 =138

8 x 11 =88

341 + 415 = 756

897 - 441 = 456

4 x 12 = 48

£3.40 + £7.45 =£10.85

13 x 100 = 1300

Two thirds of 15?10

One quarter of 24?6

One third of 36?12

One half of 50?25

Year 4

1873 to the nearest 10? 1870

6598 to the nearest 100?6600

4587 to the nearest 1000? 5000

9009 - 6589 =2420

382 x 7 =2674

8 x 93 =744

1577 + 879= 2456

7615 - 3948 = 3667

One third of 33? 11

Two quarters of 44?22

Three quarters of 120?90

Two sixths 66?22

7 divided by 10 = 0.7

15 divide by 100 = 0.15
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